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1 Wthh one of the followmg palrs
. ctly match&@d®i

ower Gondowana S
' Godavari Valley

(b) Upper Gondowana -
; ' Glossopteris

(c) Barren Measures

Ironstone ‘Shales * .

(d) Singareni Coalfield :
Y ggﬂoghyliim

2. Consider the following figures :

3. Match List-I with List-II and

R DR ( " ge)Bt thie correct answer using

.....

e T ghe code’ given below -the: biats
= 2B SRR List-I . List-IT
(Mineral) (Extinction Angle)
,‘A ,,,,, -Augite 1. 2°-6°
- Acmite 2. 0°

" C‘F’g." Hypersthene 3. 18°-20°
‘D. Hornblende 4. 45°-50°
Code :
(@ A
4

() A B
@ A B C
4. L

(d) A

iw"*ci,,‘f;.p U wo

s

4 Matéﬁ‘ List4I‘ ‘with List-II and
* ‘select ‘the eotrect-answer using
thc coﬁ‘ tgn below the Lists :
CoListp List-IT

 (Variety)

- 1. Croeidolite

B o 2 Celadonite

G Actinolite . ; 3. Gilbertite

D. Glauconité: " ‘4 Nephnte

‘ Which of the ﬁgures ngen* above ) (@) A C D -
' repmsent negatlve optxc mg&i? SRS R | g4 -
2 and 3 onl
(a) an 0 y r‘.{\“ B R T"Qy A 4 3
,(b) 1'and 4 only S AT C D
3 1 2

{c). 1 and 3 onl ‘

(c). y A C D
(d) 2 and 4 only 2 1 "3

e A oo
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- 8.

Match - List-1 . withrsList-II and
select the correct apRwer using
the code glven below ihe Lists :

. List-1 Listll
(Mmeralj (Si: O Ratw)
‘A. Topaz 1. ‘1 3"
B. Lawsonite 2. 1: 4
C. Rlc!lt;eqte 3. 4; 51‘1
D. Spodumene 4. 2:7.
Code :
@ A° B C D
1 4 2 3
) A B C D
2 4 3 1
€ AL B C D
d A B C D
2 4 1 3
6. Consider the followmg types of

hydrothermal depos1ts T
1. --Mésothermal £
2. Hj’rpothermal
3. Eplthermal

4. Leptothérmal o
Which one of the following is
the correct sequence:of the

~ above deposits in the mcreasmg

/11-B

order of their temperature of
formation?

(@) 1-2-3-4
(b) 4-3-1-2
() 2-3-1-4
(d) 4-1-2-3

7

In which: one .of the following
areas does lead-dominant

- sulphide mineralization occur?

~ {a) Mosabani_

) Sargipall

SoOw»-

(Deposit) (Locallty)

. [c) Ingladhal

(d) Zawar

Match List-I with List-II and

select the correct ansvger using

“China clay 1. Dogeta
Gypsum 2. Sonapahar
Sillimanite =~ 3. Kundava
Steatite 4, Lapsa Buru

- 5. Jamsar

Code :

@ A B C D

M) A B c b

© A B C

-
o
N
wo

@ A B C D
3 2 4
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9,

’(b) Sl

11.

/11-B

Which-.-one of . W‘ﬁ@fﬁllowing
components of coal indicates the

o bt

optimum by-product e.vaﬂablhty
during coal carbonization?
(a) ‘Ash e
(b) Fixed carbon

(c) Volat11e matter

(d) Moisture

‘Which oné ~'of the Hollowing
‘medsures” 'degiree  of

ratios
polymerizatim‘f.iaﬁg;giiieate melt?

(a) Sl

() .,Mgs;r Fe

7§ -
Liquid Bulk Solid
compégition  tomposition composition .
(48) (60) (82)

What is the proportibﬁ%etween
liquid and solid coexisting along
an isothermal t1e-hne (shown
above) with a known bulk
composmon? : .

(@) 054
(b) 0-58
(c) 1-83
(d) 154

j5 m.

2

13.

N ’*‘*;;o

¢ .. liquidus-solidus

‘() The

- Which - one, ;of the following
- Statements:is correot?

(a) The incregse " .in. Hy0
pressure causes the solvus

move upgvard in a

tempgrature-com?osmon

" ‘diagram, but causes the

loop to

migrate downward

increase  in H;;O;
- pressure causes ‘the solvus
_to - move
‘a tcmperamre-composmon

diagram, but causes the
liquidus-solidus loop to
' “ﬂ'ugraRe upward ,
() The increase in "H,0

presstire chuses the solvus
and hqulaqs-sohdus loop
to ‘moveéi upward in
a temperature-composition
(d) The _ increase. in H,0
pressure causes the solvus
< aand Houidts-splides loop
to move -downward in
a temperature-composmon
diagram =
What is a texture -that results
when accumulated crystals are

' overgrown by ‘md4terial that has a
urSinglar ceomposition .;and  fills
AR mte,rﬁtxces ‘between crystals,

' k'nown*'as?

(a) Adcumuldte

(b) Orthocumulate ‘
(c) Mesocumulate = -
(d) Microcumulate

downward in -
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(a)* Sl ’:

oy siio -

{c) Mg: Fe
(d Mg:Ca
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14,

15.

Which one of thé’ following

statements is correct?

Fossil Splder Sllk has been

preserved as "

(a) an entlre orgamsm
) a skeleton ,

(c) an ongmal hard part
{d) an altered h&rd part

How are. the 1&311»11:1@;w markmgs of
trilobites desmbed as?

(a) Bilobites ' g

. (b) Coprolites~ - .,

S 1.3

(d) Planolites -

Match List-1 with 'Listll and
. -select the correct answer using

- .the code given below. the Lists :

U ow >

List-I List-II
(Dentition) - (Fossil)
Taxodont 1. Exogrra .
Isodont 2, 'Carcfmm
\Desmodont ~ 3. Glyoyr
Cyclodont 4, Sponagrlus
Code : S
@@ A B C.D
3 4 1 2
k) A B C . D

2 1 4 3

) A B C D
2 4 1 3
‘d A B.C D
3 1 4 2

J11-B

Hh 7 The
‘invertébrate amtnals thnved in
“the -habitat of

18.

triloblte . group " of

(a) freshwater
(b} lacustrine . -
(c) shallow mariné water
(d) terrestrial

Consider the following yr_qcks :
1. Phyllite
2. Slate

3. Gneiss

Which one of the  following

is the correct arrangement’ of
these rocks according to
their increasing grader of
metamorphism? |

© (@) 3~1-4-2

(b) 2-4-1-3

o) 3-4-1-2
(d) 2-1-4-3

Fal

g

PO
Consider the following facies of -

the contact' metamorphism :

1. Homblende-hornfels

gl Pyroxene-hornfels

N Alblte-epldote-hornfefs

Wh1ch one of the followlng is
the correct sequence of the
above in order of increasing
temperature?

(@ 3-1-2
(b) 2-3-1
(¢) 3-2-1
d 2-1-3 -
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(@) 3-1-2
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(d) 2-1-3
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- 20. Match List-l gith Listll and 22 [—

R

inversion

C. Min’e.x"a‘l‘ogi\cal‘ 3.

maturity less Tounded
o than smaller (a) db and be
| grains and cb
D. Normal 4. Durable grams ) hg
texture are predominant c) df and fe:
Code: T @ dhand fe'
@ A B C..D
; . 23. In the case of vertical fault, why
) A B C D - is it difficult to'measure the slip?
1 .4 2 3 .
o ‘(a} The HW is mlssmg
g A B 'C . D g
'3 1 2 4 - [b) The FW is mlssmg
@ A B .C D.. {c) The HW and FW are missing
3 2 4 1

AN LA e
kP

than smaller one

Larger grains are

. select the correct answe; using
¥ the code giveg*f "“‘low thé Lists. :

List-I O Listn

(Texture) (Characténstzc)

A. Textural 1.'Grains are g

maturlty wl sii-sorted In the cross-section of a fault
B. Textural 2. g s are n the cross-section of a fau

T 2 better rounded given above, which segments

represent throw and heave

.- respectively?

' (d) The vertical fault has no slip

21. What is the nature of the slope of
a, sloping sutface when" almost 24.
. all the points are visible from any
- other point?

Which one of the following is not
associated with faulting?

(a) Umform (a) Slickensides

. (b) Convex (b) Slickenlines
(c) Concave

(d) Scarp

(c) Plumose structure

- {d) Breccia

ms | 10
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25.

A foliation plane shows apparent

dip of 50° towards N 260° and

N 320°. What is the true dip
d1rect10n of foﬁatron?

(@) N 280°

() N290°

() N 300° >

26.

27.

/11-B

_determined

(d) N 310°

Which one of the folibwing is
using differential
parallax on aenal photographs?

(@) Vertical exaggerauon
(b) Tilt displacement
(c) Heights of objects

(d) Relief displacement

It is difficult to acéqui‘re‘ image
; of 'the earth’s surface on a

rainy day. Which one of the

followmg remote- -sensing sensors

can acquire unages even- ' on
a rainy day? -

(a) RBV
(b) MSS

() LISS

(@) SLAR

12

28. What

'29.

is the c'c')n"ect -genetic
sequence of solution landforms
in a Karst region?

(a) Swallow hole—Doline— :
Uvala—PolJe

(b) Dohne—Swallow hole—

Uvala—Pol_]e

(c) Uvala——Dohne——PolJe—
' Swallow hole

{d} Swallow hple—Polje—Doline

. -,—-Uvala

Which one of the following is the

* youngest element of the Dharwar

30.

craton?,

(a) Closepet granite
(b) Peninsﬁlar g’néiSs
(c) Sargur échist

(d) Dharwar schist

Which one of the following schist
belts shows the best developed
section of the Dharwar super-

group?

(a) Chitradurga :

- (b) Kolar

(c) Bababudan

(d) Shimoga




25. @& WeH1 a@ N 260° 3 N 320°
R 50° A Imeh Ay s ¥
WeE it e 4Ry R T ¥7
(@) N 280°
() N 290°
{ N300° ° |

(d) N 310°
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27.

(a) RBV
(b) MSS
(c) LISS

(d) SLAR

/11-B
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3‘10

Consider . " 'the

polymorphstof:quartz
1. Tridymite. .

R a.Quam . L
3. B-Quartz

4. Cristobalite
Which one of the following is
“the correct sequence of the above

polymorphs  with increasing

temperature of mversion?

(@) 3-2-1-4
(b) 2-3-1-4

Cifg) 2841

32.

(d) 3-3-4-1

Consider the following minerals :
1. Smithsonite |

2. Bronzite bk

3. Morion

4. Glauconite:: = i

What is- the correct sequence
of the above .minerals in the
increasing order of their
hardness?

(@ 4123
) 1-2-34
'(c) 2—3-1-4

33.

/11

(d) 3-4-1-2° o

Amongst the fonoﬁé;‘eIMents,
which is common in all dlfferent
minerals of feldspar group?

. (a) Na

(b) K
(c) Ca
(d) Al

* following: -

34

Match List-I wﬂ:h Llst-H arid

- select the. correct: answer using

the codeuv,‘g_gven below_the Lists :

List-I List-II
~ (Mineral) (Optic Sign)
A. Augite 1. Uniaxial positive
B. Cristobalite 2. Uniaxial negative
C. Hornblende 3. Biaxial positive
D. Stishovite 4. Biaxial negative
"Code :
@ . A B C D
.3 2 1 4
A ‘B- C D
) A° B C D
\ 3 2 4 1
@ A B C D
4 3 2 1
35. Which of the following are

- 1. Wavy

correct in respect of the optical
propertles of quartz'r’

' strained grains.

2. Wavy extinction is in all

‘gections.

‘ 3. Basal" secttons are dark in

. all positions.
Select the correct answer ﬁsing
the code given below :
Code :
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

-extmctlon is in




31.

) 32.

33.

W%ma@mﬂsw
fAfw: |

2. oc-'ﬂfif

3. B-wRSA

4. BReene ,
AT F §g & Hg-urY
It SgEIH W fefafed § W
H-1 TH TE AT R?

(@) 3-2-1-4

(b) 2-3-1-4

(c) 2-3-4-1

(d) 3-2-4-1

frefeRaa @fst T REr A

1. foreEmEe

2. s~

3. #Afei

4. TS

I Wil F1 R FwER F T
RECZEEGE TR RIS

(@) -4-1-2-3 |

(b) 1-2-3-4

(c) 2-3-1-4

(d) 3-4-1-2 ) |
frfafas ot §, Feewr g & wh
fom wfist & ®F-w1 a= wdfe 27

" (a) Na

/11

(b) K

~(e) Ca

(d) Al

15

34, -1 w gH-11 & Ty gafem Hifvg

3R gt & 9 e g @ owEm
g -1
(@he) - (i )
A. 3w 1. uF-Ef e
B. frddemse 2. uH-7ehd HOTes
C. gd=ts 3. fi-ansfa wmrons
D. fRuEmre 4. fg-sefim womeT®
®e '
@ A B C D
3 2 1 4
) A~ B.C D
4 1 3 2
¢ A~ B -C D
3 2 4 1
@ A B C D
4 3 2 1

'35, wRS & WawiE e % s #
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B 2 ,
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~36.

37.

/11

~Consider the:

- following
statements :

1. Bivalves are known to occur
in wide range of habitats.

2. The two valves  in Bivalvia
are not equal in size.

Which of the statements given

 above is/are correct?

(@) 1 only
(b} 2 only

{c Both 1 and 2

(d) Neither 1 nor:2

Consider the following fossil
forms :

1. Lithostrotion '

2. Heliolites
3. Stylina
4 Halysites

Which one of the following is

the correct sequence of their -

evolution?

(@) 3-1-4-2
(b) 4-2-1-3
(c) 2-3-4-1

(d) 1-4-3-2

16

+i38.

39.

40.

Consider ‘the following :
1. Formation

2. Supergroup

3. Group

4, Member

Which one of the following is
the correct sequence aof the
above stratigraphic ranks in the
hierarchical order?

(@) 1-2-3-4

b) 2-3-14

() 1-3-2-4

(d) 2-4-1-3

Which one of the following
represents the
oceanic crust?

(a) Tektite
(b) Phonolite

(¢ Kimbérlite

(d) Ophiolite

Which type of the ahomaly exists
over the mid-Atlantic ridge?

(a) Positive Bouguer A
(b} Negative Bouguer
() Normal magnetic

(d) Reverse magnetic

remanents of

S ———

L R T
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(a) ¥ 1

(b) ¥Fw2

(c) 1R 23

(d) IX13MMIA 2
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1. fourgem

T

ez
frafafas # ¥ DA-T1 @ T =
1 W g B7

(@) 3-1-4-2 °
b) 42-1-3

(c) 2-3-4-1

 (d) 1-4-3-2
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- 38,

]

| (a) 1—2;3—4

; 390
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AfeEy

-

e
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(b) 2-3-1-4
c) 1-3-2-4
(d) 2-4-1-3
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(@) 2HIEL
b) PHvETE
(c) Torreremse

(d) ¥R

Y remfe @t 87
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(c) W g
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41.

42.

43.

44,

/11

()

The age of the earth is curfently
thought to be

(@)
(b)
(c) about 4:6 billion years old

about 6000 years old

about 6 billion years old

None of the above

When did geoldgists d“évélop the
theory of plate tectonics?

(@) In the mid-1800s
(b) In the ‘early 1900s
(c) In the 1950s

(d) In the 19608

Which of the following is a type
" of plate boundary?

(a) Convergent boundaries
(b) Divergent boundaries
(c) Transform boundaries

(d) All of the above

What is the name of the
large supercontinent that existed
about 250 million years ago

when all of the contments were
together?

{a) San Andreas
{b) Andean
(c) Indian

(d) Pangaea

*18

45.

46‘

47.
~ a primary: structure?

48.

the

Who  proposed  that
uconvectlon currents . in
asthenosphere . cause the

lithospheric plate movement?
(@) Arthur Holmes

(b) '1‘1.126 Wwilson

(c) M. P. Biuings

(d) D. N. Wadia

Which of the following types of
rivers receive their discharge
from the groundwater of the
area? ‘

(a) Effluent rivers
(b) Intermittent rivers
(c) Perenmal rivers

(@) Supenmposed rivers
Which one of the- following is

(a) Joint plane

(b) Fault plane

(c) Dike

(d) Cleavége ‘plane

Pgdasta'l rocks are formed due to
(@)
(b)
(c)
(d)

glacial erosion
wind erosion
river erosion

oceanic erosion




41.

‘zﬁ‘?ﬁmaﬁmﬁwm%
(a) T 6000 T YT

(b)) T 6 I T GO

42.

- (b)

43.

44,

/11

(c) T 46 I A JON

(d) I H A B T

SAwPE ¥ Fw < Rl Rt

muﬁmaa%en?
(a) 1800s % weA &

1900s % qid &
(c) ,‘19.50sﬁ

(@) 1960s #

i A B T TR H e w7
(a) Sﬁﬂlﬂiﬂm '
(b) mm

(c) Wi e

(d) 3w wf |

250 s af TR ww wh R T
T W A W e ww-weR
e 7 o1 IWH W T Aq1?

(a) & i

(b) S\ =0

() e

(d) usiEn |
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45, fra . warfe . fem | B woemew

(el <) A e F
mm(a@am)ﬁﬁam

. Gaed 9w g7

46.

(@) wﬁs‘m |
(b) g«ﬁfam

" (c) W o ﬁf@m

(d) o o a‘r%m ‘

N S W O -

o R Y

(@) Rt 7
) SR
(c) W T

 (d) wERfE TR

47.

48.

T & W s w47
(a) | T |

b) smaE

() P (zmew)

(d) T @@

—%mmmmg.

- (a) %mframtaa
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(c) & IR
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49

50.

“Which of ﬁle fb“lfomng is a sWRet

‘water hkee e ’
(b) Dal ey

(c) Sambar Ce ke
(d) None of the above |

Regarding velocity of earthquake
waves whlch of the following is

true? S T

(a) L-Wave > S-wave 5 P-wave

. {8} P-wave > S-wﬁve > L—wave

51.

52.

rl’ll;

(c) P-wave > L-wave > S-wave
(d) None of the above

Which of the followmg rivers
does not orlgmate from the
Hunalayan Mﬂmams?

(a) Beas

(b) Narmada
(c) ,Cheheb ;
(d) Yamuna

According to the pnnc1ple of

un1form1tanamsm

(a) geologlc, . ProcCesses. we
observe today have operated
in the past = %

(b) geologic processes in the
past. operated at the same
rate as they do today ‘

(c) all of the' planets formed
from a uniform solar nebula
by same type ‘of slow
consequent processes

(d) early earth was covered by
‘a uniform magma ocean

53.

. 540

* Which ‘of the folowing is not'an

inner planet?_ﬂ

(a) Mars

(b) Neptune ‘

() Vepus

(d) Earth

Concept of cycie of erosion’ was
first glven by

L

(b) Hutton |

(c) Thornbury

(d) None of the above

55.

Which of the follomng crystals
has least number of surfaces?

(a) Cube

‘(b) Octahedron |

(c) Tetrahedron

(@) Pyramid of first order

56.

Tﬁe‘ nnmber of Bravis lattice is
@ 13

w12

(c) 18

(d 14

M B W Y AT et S P AN g N R




49,

50‘

51.

52.
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Hﬁ%aﬁwtﬁzﬂqﬁlwgﬂa%? 4
(@) T

(b) s

(c) TR

(@) wﬁﬁﬁﬁaﬁéaﬁ |

wmﬁm%mﬁsﬂﬁﬁ

W T R7

(a) LG0T 3 S > P-alt

(b) P > ST > LA
(c) P-&T-> L4 > S-'c'iT'T

(d) Wﬁﬁaﬁéqﬁ

27
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) T

(c) ==
(d) IgT -

,wmlﬁﬁma%m

(@) S v-Rara v wem o
%@%%%Wi&aﬁwaﬁ
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() ST et o e 3 T
Ivfaiagt
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. TR il TE T R
(o) W |

) T

(c) TF

(d) ge=ht

65.

‘Tote % zﬁmmm

ﬁmﬁmw?

(a) i

) w=

(c) A=

(@) SEwTAWERE

rﬁnmﬁﬁmﬁmﬁﬁm ,

- g 27

(@)
(b) wEFE

(c) S

(@ manézwﬁrrha

. 56

(¢

. v A A e §

(@
)

13
12
18

(@ 14

[P. T.O.




S§7. The hardness of dxamond ranges

58.

- B9.

60.

from 10 to
(a)‘\70 :
(b) 85
(c) 140

(d) 150

The hardness of kyahite‘ parallel
to the length of .the crystal and
across it, is respectively

7‘ (@) 4 and 5

(b) 6 and 7
(c) 4and 7
(d) 6 and 5

‘What is the mineral wool? =~

(a) Scapolite
(b) Andalocite

(c) Asbestos

 (d) Kyanite

Which mineral is added to paper
pulp to g1ve paper a better
surface? : e
(a) Kaolin

(b) Bauxite

) (c) - Natrolite S

./il

{d) Feldspar

22

61.

Name of the  aluminium-
containing mineral commonly
present in bauxite is

- (a) Gibbsite

(b) Boehmite |
(c) Olichite

- (d) All of the above

62.

63.

64.

The chief use of mineral apat1te
is in

(a) ceranii’c industries
(b) fertilizers
{c) pigment induétries

(d) paper industries

Plane polarized light can be

produced by
(a) reflections
(b) pile of plates .-

(c) Nicol prisms

~ (d) All of the above

Minerals * crystallizing in
isometric system have :

. optic axes.

@ 4

K

() 3

(d) - Indefinite number




57. ﬁﬁmmﬁwﬁ%m% 61. waury # wuwow: ToffEm o

FA T GRS BT T B
(a) 70 AR .
(a) Treume
(b) 85 Wh
(b) HreATEE
(c) 140 Tk , .
(c) SAfereRTse
(d) 150 T |
(d) 3T wft
58. FEHE H N e F @R , o S
R 77eT T B R o 62. WWWE@W%
(@) 4TS5 (@) ﬁnﬁmszﬁnﬁ
) 677 ) @w ¥
/ (c). 4qai7/ (c) m?"f"‘ﬁ‘.
» (d) HT I

(d 6@ S5

59. @ﬁmmw%? 63. fred Tm W g v T

| L - 'ﬁmmmt‘-?
(a) FwiE - S—
(b) T )
@ m - o (c) Frre fom
@ m | (@) TR
'so.m%maﬁmmﬁ%ﬁﬁz u“-'““ﬁ“‘m'ﬁ‘mmﬁaﬁaﬁa
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65. Which one- i8 . a noneplﬁr;:chrolc

66.

67.

© 68. What

/11

Graphic‘ ‘

mlneral? EAR O ‘L‘Z"?':
(a) Biotite
(b) Olivine

(c) Hypersthene S

~(d) Garnet

'I‘enor’ means

(@) kpercentage of metaf content
in the. ore .

(b) percentage of
content in the ore

mineral

(c) Both (@) and'(B)

(d) ability to react:with other
substances

crystallization at
(a) triple point

¢
[

(b) ‘eutectic ‘point

'(c) incongruéﬁ’if po’inf

(d) Thete is no such fixed point

- primary ..qre

mmeral occumng AR Rakha.

mines of Jharkhand?
(a) Galena
(b) Uramte

o %h copyxrlte R

(d) Sphalerite .. -

24

69.

70.

71.

72.

' (b) Regional

R e

The environment . between the
high-tide and low-tide levels of
‘the ocean is known as

(a) neritic-

“(b) littoral

(c) bathyal
(d) abyssal

A lagoon 1s fa/an )

(a) vertical body of shallow

water ,
(b) horjzontal body of de,epwéter

(c) elongated body of quite
shallow water

) horizontal body of shallow
water

Grain size of the particles can be
graphically represented by

’(a) histogram .

(b) cumulati}ve,‘ curve-

() triangular diagram

(d) All of the above
Myloniﬁes .are ‘product of wh1ch
type of metamorphism?

(a). Contact

SRl T M e
(c) Cataclastic

(d) Static




65.

66. *

ﬁﬁaﬁ?-maﬁaw;ﬁﬁg?«
(a) anzhzrsz

(b) S

(c) sﬁ‘mﬂw

(d) e

(@ mﬁmm

) e e R

67.

(c) A (a) 3R (b)

(d)@wﬁﬁ%misﬁﬁ
- &

m@r@mm———mmuﬁﬁh

;’mél

(@) f fig
- (b) . R wifaw fag

o Tmiefy

(@) Y P fig e R

68.

(a) T

R
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(d) TFeRgE

25

69.

m%waﬁwﬁ%aﬁaﬁm
%amramaﬁa;a%%

(b) S
€ T

@ fet -

70.

?FB%@ o
(a) %ﬁmﬁmm

| ~(b) n@mrﬁ@rﬁwm

- 71.

(c) T oot v At Twh

‘(d) Wwﬁaﬁmm L

;wﬁmmmﬁn}@ﬁaﬁ/

Tatan s wHa %
(@) 3“233&1 i
(b) T

(o e ;

S d) Wm

72.

mﬁmm%waﬂ

IR RY

(a) GEIgi
(b) RREE
(c) TS

()
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73.

74‘

75.

-(c)

76.

/11

(c) Andaman ‘Nicobar

- (d) Both (a) and (b) -

Murex belongs to !

‘(@) trilobites

(b) brachiopods
{c) ‘géstropods
(d) cephalopods

The well’known coral island in
the Arabian Sea is

(a) Great Barrier- Reef

(b). Lakshadweep

the following

Which of ]

successions is correct?

{a) Older metamorphics,
" Kolhans, = Dalma and

Dhanjori lava

Dalma aﬁd Dhanjori lava,

(b)
Older metamorphics,

Kolhans

Older metamorphics, Dalma
and Dhanjori lava, Kolhans

(d) None of the above

Beds and veins of gypsum are
found in

(a) Bhander
(b) | Rewa

(¢) Kaimur

(d) -Semri

26

7.

78.

79.

(@)

@

Loess is the name “giiren to
(a) heaps of sand accumulated

in and around a town due to
wind transport

(b)

extensive deposits of silt and
clay made by wind in many
areas over the years

a depression in a desert
where -groundwater has
appeared due to excessive
erosion

(d) None of the above

(c)

Block mountains is the term
used for

(a) mountains created by thrust
faults

(b)

mountains created due to
slipping of side blocks along
parallel strike faults leaving
behind raised blocks

mountains developed due to
denudation of original land
by glaciers

(d) None of the above

(c)

Stress minerals are

characterizedv with _
flaky, platy and elongated

shapes _
(p) angular, regular and
polyhedral outlines
(c) perfectly  rounded and

granular minerals

None of the “‘above
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(a) ;mvhaﬁz
(b) e

(c) ﬁgﬁz

(d) dFeiaE

74. 3@ AR { Gﬂ_#?-qsaFﬁAuara HeR A
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80. A rock that is* porous ‘but not

permeable is
(a) sandstone o
(b) sﬂtstone |
() shale
(d), marble

81. The most selub‘le.sav_ltsj, which are
last to precipitate when a basin
is drying up are

(a) sylvite, bromide ', &
) gypsum, anhydsite
() calcite, aragonite
(d) halite, ipblyhalite )

82, The size Of the sand in the phi-
scale is represented by

' (a)w-2 to 3-
(b) "l-l to 6
(c) 1to4"

~ (d) None of the above

83. Ankleshwar - is - the - most

important oilfield of

{a) Bombay Offshiore’ -
(). Cambej Bas:iﬂn‘ o

' (C) Kutch Basin

(d) Godawari Basin .«

/11

84. The isotropic minerals show ~——
extinction. -

(a) straight
- (b) oblique
(c) symmetfical
(d) lk\;oﬂyr{e“of\tﬁéabo;re |
85. Permeability. of s s'ock elepends .
on
(a) grain size
), grin hape
(c) grain 6i*ieﬁtaﬁpn’

" (d} All of the-above

86. Exfoliation is a type of —
weathering.

| (a) physieé.l .
(b} chemical .
(c) biological

(d) ‘None of the above
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87.

89.

Oxbow lakes are prodhc‘ed* by®
(a) braided river

(b) rneandgring rivex: oy

(c) gfacier

(d) turbid current

The amount of M in the
AFM projection is- simply the
molecular proportion of

(a) FeO

(b) K0

(c) Aly03

(d) MgO

Viscosity of magma tends to
increase in —— content.

" (a) water

@ gas

/11

(c) acid

1 The greater the presstire, the less

likely materials are to
(a) ; cool

(b) erupt

(c) melt

(d) None df‘tl‘te ‘above

91,

‘The * rost extensive modern

continental volcénic mountain
chain is -

(a) Andes Moun«t;ains
(b) Himalayas

{c) Alps

(@ Zzagros

92.

In the triclinic system all the |
forms have

(a) 2 faces

. (b) 4 faces -

93.

() 6faces

(d) None of the above

In India, the ‘dinosaurs attained
their highest development during

. the deposition of

(a) Bagh beds

(b) Lameta beds

(¢) Umaria marine beds

(d) None of the above
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{a) FeO

(b) K0
(c) AlxO3
(d) MgO "
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(c)
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90.
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92.

93.
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95.

96.

(b) outlier T

97.

© (b)5:Cerussite " N

iThe regional’ strike of tHE Siwklik

group of rocks is
(@) N-S ‘
(b) E-W

(é) NW-SE i
(d) NE-SW

Which of the. follpmng is a.

carbonate ore mmeral of lead?

(a) Galena

(c) Anglesite
(d) Sphalerite -

surrounded by the older rocks,
the structure is called

(a) inlier

(c) klippe

‘
Heavy mineralss are those

minerals.whose specific grav1ty is
more than

(a) 255
(b) 275
€ 285
@ 295

98. ¥ stréMtolites are forined by

(@) algal mats

(b) coral colony .
(c) invertebrates

(d):None of the-above - *

99. The chemical fo'x,mulav.;of gypsum

is
(@) CaSO,-2H,0

(c) CasSO,

(d) CaCO,

100. The pathﬁnder in gold depos1ts is

; }é:f

Sl ew 44 . ,’;w e gl R T
‘v v im SRk EEE

(a). arsenic : ki
(b) molybdenur;;? |
(c)‘ mercury

(d) silver :

B
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firafis wg 9t 1 el
% .
(a) N-S o

(b) E-W

() NW-SE

(d) NE-SW
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(c) TREE
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aim fa g
(@) 255
(b) 275
() 285

. (d) 295
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(a) =T TR
(b) YaRA FEAH
(c) e st

(@) I AR

99. e &1 TaRfs g

(@ CaSO4-2H,0
(b) CaSO,4-4H,0
(c) CaSO,4

(d) CaCO3

. 100. wﬁﬁﬁqmmﬁm%

(@) ndfE
) A
) w0

(d)
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